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(o, gad) Arab Republic of Egypt JA/ELY (V)
Ministry of Education
General Secondary Education Certificate Examination — First Session 2022
[Third Year Secondary]
Algebra and solid geomefry Time: 2 Hours
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Calculator is allowed

First : answer _the following questions :

Choose the correct answer from those given

(1) Number of ways to form a three different digit number from the set of digits

{2,3,4, 5} equals way

@ 4 b 24 © 36 @ 60

2) Ifz=1+1i ,where i? = —1, then the principle amplitude for the number z>
P

equals

@

® - © @
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(3) Ifthe value of the determinant

0 k 2)equals2,then:k =

@ 1 ® 1 © 3 @ 4

(4) Ifthe point (3 + m,1 — 2m, 4m) is at a distance 4 positive units from

the plane xy , then m =

@ 4 b 3 © 2 @ 1
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-3 +2 +1 .
(5) If the two straight lines Ll:xa S =‘z9 and L,: 7 =(3,—1 2)+k(1,2 ,3)

are parallel, then the value of a =

@ 3 © 2 © 1 @O -1

(6) Sum of the intercepted parts from the coordinate axes x, y and z by the

plane: 3x + 4y + 6z = 12 equals

€y 10 (b) 11 (©) 12 ) 9
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(7) It z, , z, are two complex conjugate numbers , then z; X z, could be equals

(@) 1+i b 1—i (© 2 (D i

(8) Equation of the plane which passes through the points (3, 0, 0) , (0, 0, -5) ,
(0,2,0)is

@ f_Y,z_ ® I VI
3 5+2 1 —5+2+3 !
© E.roz_ @  Ey,Z_
3+2 5 1 2 5+3 1
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(9) Ifthe point A(3,2,1) and the point B(5, 2,3), then the coordinates of
the mid-point of AB is

@ (—4,—2,-2) ®) (—4,0,—1)
© (4,0,1) @ (4,2,2)

(10)If " 'p, =720, then 2IN =

(@ 240 (® 1008 (¢ 1080 (@ 10080
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(11) If the coeflicients of the fourth and twelfth terms in the expansion (x + y)™

are equal, then the value of m equals

@ 13 ® 14 © 15 @ 6

(12) If equation of a sphere in the spaceis: (x — 1)2+ (y—=3)2+ (z+2)?=9

, then the coordinates of its center are and

the length of its radius = unit of length
@ ("—11 _3,2) ) 3 @ (1; 3; _2): 3
@ (_1, —3J2)19 @ (1, 3, _2), 81
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(13)If 1 , w, w? are the cubic roots of the unity , then: (1 — w?) (1 —w)=

@  zero 1 (© 2 €) 3

1

(14) It 4=,

)56) is a singular matrix, then the value of x + 1=

@ 4 5 © 4 @ -5
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(15) 1f A ,B are two vectors such that: 4 =(-1,—k ,2)and B = (1,3,6), where
k€ Z* and “ﬁ“ = 6, then the value of k =

@ 1 ® 2 © 3 @ 6

(16) Equation of the plane which is parallel to the plane xz and passes through the
point (1,-3,2) is

(@ x=1 @& y=-3 (0 z=2 () x+z=1
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(17)Ifz = 3V 3+ 3i, then |z]| =

@ 6 O, 9 © 3 @ 12

#(( B pdladl dadialt B ALY Ady )y




(e, gad)

L T

SHTE/Y J{ eyl

Second: Answer the following questions: -

8
1
(18) I'ind the value of the term free of X in the expansion: (x + ;)

(e Agiad) Andual) B AL 40, )
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(19) Find the two square roots of the complex number z = 2 — 24/ 3i in the

exponential form.

(b A Aadial t‘_,.é.a.t;p_u‘xs&,j:@)_)f«
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(20) Without expanding the determinant, Prove that:

1 2 3
4 5 6[/=0
7 8 9

#(( phe A dadeal au:s&..uu‘g;z@))*
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(21) Find the volume of the parallelepiped in which three adjacent edges are

represented by the vectors

A =(1,02),B =(L1-1) ,C =(1.21)

H(( sde dagl i Aadual iu.émcﬂi%ég))*
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(22) Find different forms of equation of the straight line which passes through the

point (3,-2,1) and the vector (1,2,3) is a direction vector of it.

#((( A gt y))*
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